
Let’s Get Moving Logic Puzzle 
 
Three people are going to the beach, each using a different mode of 
transportation in a different color. Who’s using what? 
 

 
 

 
Car 

 
Motorcycle 

 
Boat 

 
Blue 

 
Orange 

 
Green 

Calamity       

Dorothea       

Finch       

Blue     

Orange     

Green    

 
1. Calamity loves orange, but she hates the water. 

2. Finch did not use the green vehicle. 

3. Dorothea drove the car. 
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Let’s Get Moving Logic Puzzle Answer 
 

 
 

 
Car 

 
Motorcyle 

 
Boat 

 
Blue 

 
Orange 

 
Green 

Calamity x 0 x x 0 x 

Dorothea 0 x x x x 0 

Finch x x 0 0 x x 

Blue x x 0  

Orange x 0 x 

Green 0 x x 

 
 
 


